NS020U
NS020

Y ﬁ
b e 2 =3 ®
' ] SMART
www.fsc.org
Fsc* C|05331
YSTEM

ROBINIA
PLAYGROUNDS Go)
designed for sustainable and creative play responsibie forestry Y
08-11-2023 / Rev.: D




‘1350‘

NS020U
NS020

9540

600 - 800 |,

23h 132 m? P13x1,35m ~606 kg ~114m? ©10/12 x 210 cm 19kg

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com Y,

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



NS020U

NS020 @

N3114U N3117U

P

N3118U

P

N3230U

LE15910

< :"\ - “Sa_ > P '//‘
S J
N3119U
N3210U N3222U @

LE15901

Parts List

Qo
<

PART NO

LE15901

LE15910

N3110U

N3114U

N3117U

N3118U

N3119U

N3210U

N3222U

AlalalajlalalalalanvT

N3230U




‘1350‘

NS020U

NS020 @

Max kg / cm

\

600 - 800

1987
4720
7343
7745
7942
8149
8346
8554
8759

3796 o
3261
3139
2854 ///////”/”’#474‘“‘“\\\\\\\\\
2646
2449
2242 ——
2045 |

1845 T

1836

1757 ==
0(/// 4{%7 1

1960 % b

3717 \\X

3644

3808
3832
4185
4193
4547
4555
4909
5194
5102

5604

J: N

-

LUK
o

598
847
932

1209

1294

1571

1655
1983

3693
5747
7548
8934
9570



N3110U

N3110

IA
2]
o
o

EN 1176}

u

=l

\__3-14 J

N\
100

19
87

N RNA
PLAYGROUNDS

designed for sustainable and creative play

01-06-2023 / Rev.: C



N3110U

N3110

MAX kg/cm
2100 245
o Q O
o
o
(a0}
- | O
8 o lloll
o peoe |
(q\]
o
8
T 19
1960
\ \
5100
o
o
o
™

51x3x1,3m ~57 kg 0,076 m® @11 x210 cm 18,6 kg

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com Y,

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



D20050
Parts List
QTY PART NO DESCRIP.
2 D20050 2100-120-2100mm
1 RS10034 3100-120-2100mm
1 TV00015 Taifun

N3110U

N3110

RS10034

TV00015

~—— D20050




N3110U

N3110

o
o
o
18
O o "O“
o -l
[q\]
o
S
T #19
2 2
3 g 5
1685
0 ey

1555




N3110U

N3110
LE15910
LE15901
RS10034 -
A
#87
A
LE16502
- LE13100
~—— D20050 C
LE16599
B
L1101
Y
] L1102
LE16599
‘/ g TV00015 D20050
L& \ L1101
el ~’
/
L1103 o
Parts List
QTY PART NO DESCRIP.
D20050 @100-120-2100mm
L1101 M16 sleeve nut
L1102 M16 Threaded rod
L1103 @37mm

LE13100 Shackle

LE15901 3x16, PH

LE15910 Name tag

LE16502 Spacer 6mm

LE16599 Sealtite 970 1,5ml

RS10034 @100-120-2100mm

S22 N2 NN AN

TV00015 Taifun




N3114U

N3114

IA
2]
o
o

EN 1176}

u

=l

\__3-14 J

I N\
100

19

N RNA
PLAYGROUNDS

designed for sustainable and creative play

ROBINIA
PRE-DRILLED

B

® .
SMART
YSTEM

01-06-2023 / Rev.: B



N3114U

N3114

MAX kg/cm
2100 | 240
@:
o
3
A vl IIOII § 8
o N

o
Vo]
~ ‘\\\¥—#19

1960
® R1500
™
[ap]

-
N,

5100

51x3,4x1,3m ~76 kg 0,076 m* @11 x210 cm 18,6 kg

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



N3114U

N3114

RS10034

Y

g

Y
~——————— RS10047
TN
RS10047 —
RS10034
Parts List
QTY PART NO DESCRIP.

LE16599 Sealtite 970 1,5ml

2 RS10034 ©100-120-2100mm

2 RS10047 @100-120-2100mm




N3114U

N3114

2100

1685

| 240
@;
o
g ()
~ "0" 8 §
Oi
o
Vo]
~ ‘\\~m9
1960

1960

1695

an

////////////// 3530

-




N3114U

N3114
RS10034 S|
#87
"
RS10047
A
<5
(A RS10034
~—— RS10047
A
L1101 B
o ﬁ’ LE15910
Y |
L1102
L1101
LE15901
L1103
LE16599
Parts List
QTY PART NO DESCRIP.

8 L1101 M16 sleeve nut
4 L1102 M16 Threaded rod
4 L1103 @37mm
2 LE15901 3x16, PH
1 LE15910 Name tag
1 LE16320 6x50 Dh
1 LE16599 Sealtite 970 1,5ml
2 RS10034 @100-120-2100mm
2 RS10047 @100-120-2100mm




N3117U
N3117

‘.--,'... = \
| I ®
. AR
" - SMART
www/sc.org
FSC* C105341
YSTEM

PLAYGROUNDS S

designed for sustainable and creative play e Y
02-11-2023 / Rev.: C

B




N3117U

N3117

2100 2654

Max. kg / kg —

1300

955

Iloll

900

~1288

800
fl

|
I
{

5610

5100

9

oJufz]1]:]a

56x51x1,3m ~91kg ~0,08 m® ©10/12 x 210 cm 19,4 kg

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com Y,

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



N3117U

N3117

D12123

$22533

RS00640

RS00639
Parts List
QTY PART NO DESCRIP.
1 D12123 @100-120mm, Assembled
2 RS00639 @100-120
2 RS00640 @100-120
2 S22533 Taifun




N3117U

N3117

3530

o N
R
~ 8 |l0" / \
»
o / \
o [
© ———— \ #19
- 2
(o]
& < =
1570
0 \




RS00639

/
| &
A
S
&
)y

Parts List
QTY PART NO DESCRIP.
1 D12123 @100-120mm, Assembled
4 L1101 M16 sleeve nut
2 L1102 M16 Threaded rod
2 L1103 @37mm
8 LE13100 Shackle
2 LE15901 3x16, PH
1 LE15910 Name tag
8 LE16192 5x80mm
8 LE16502 Spacer 6mm
2 LE16599 Sealtite 970 1,5ml
2 RS00639 @100-120
2 RS00640 2100-120
2 S22533 Taifun

N3117U

N3117

RS00640
#87

L1102

L1101

LE16599

$22533

LE16599

L1103

D12123
L1101
TN
I
’,/'
N
#TA
LE16192
LE15910

LE16502

LE15901

LE13100

S22533



N RNA
PLAYGROUNDS

designed for sustainable and creative play

N3118U

N3118

IA
2]
o
o

EN 1176}

u

=l

=0
==
==
=0

ROBINIA
PRE-DRILLED

B

® .
SMART
YSTEM

01-06-2023 / Rev.: C



N3118U

N3118

2070 300
o
o
™| O
~1 8
-— "O“
- . B
(p]
N
o
o
® \\\
#19
1960 ‘
\ \
4900
o
o
Tp]
= 1500 R1500
3 > o o©
a o o o
o
o
©

49x3x1,3m ~94 kg 0,304 m3 @11 x210 cm 18,6 kg

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com Y,

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



N3118U

N3118

TV00015

=0

N

N

D20053 ]

Parts List

QTY PART NO DESCRIP.

2 D20053 @100-120-2100mm

6 RS10038 @100-120-1050mm

1 TV00015 Taifun

=0

RS10038



300

llOll

2070

0S¢

000l

oo€l

008

1960

Ggl6e

0961
c0ll

c6el
0611

088
619

69€

GGGl

e

~

1650

95

95

1650



LE16502

>
LE16599
TV00015
LE13100
D20053 —
Parts List
QTY PART NO DESCRIP.
2 D20053 @100-120-2100mm
2 LE13100 Shackle
2 LE15901 3x16, PH
1 LE15910 Name tag
1 LE16320 6x50 Dh
2 LE16502 Spacer 6mm
1 LE16599 Sealtite 970 1,5ml
6 RS10038 @100-120-1050mm
1 TV00015 Taifun

N3118U

N3118

-
L

RS10038

LE15910

LE15901



N RNA
PLAYGROUNDS

designed for sustainable and creative play

N3119U

N3119

~N
® .
SMART
ROBINIA
PRE-DRILLED
SYSTEM
J

02-11-2023 / Rev.: B



N3119U

N3119

2070
110

5 y . . 7
o
™

S

hre) I I I I |lon

S

Q| ®
5070
P
2
o
2 51x3,1x1,3m ~41kg ~0,08 m* ©10/12x2100 cm 19kg

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



N3119U

N3119

D12155

522534

Parts List

QTY

PART NO

DESCRIP.

D12155

@10/12, Assembled

$§22534

Taifun




N3119U

N3119
2070
110
o
o
™
©
Lfo) IIOII
o
Q8
0 o (o]
0 © -—
v » Tp]
~— ~ o
1555
0 -

1555




—
A
ea
2

— T T
A
O\
)
N~ \
. |
LE13100
LE16502
LE16599
Parts List
QTY PART NO DESCRIP.
2 D12155 210/12, Assembled
6 LE13100 Shackle
2 LE15901 3x16, PH
1 LE15910 Name tag
6 LE16502 Spacer 6mm
1 LE16599 Sealtite 970 1,5ml
1 S22534 Taifun

N3119U
N3119

LE15910

LE15901




N3210U
N3210

AN §
i ) :
2 AR
o »
. SMART
www.fsc.org
‘ FSC* C105341
YSTEM

PLAYGRUUNDS ROBINIA

PR: DDDDDDDD
designed for sustainable and creative play Ry
31-10-2023 / Rev.: B




450‘

N3210U

N3210

2100 |

/Max kg/cm

2443

l|0|l

430 |

600

5443

5100

1
(1]

25,8 m? 5,4x5,1x0,45m ~79 kg ~0,15 m® ©10/12 x 210 cm

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com

19kg

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



N3210U
N3210

S22532

D12158

L RS00675

Parts List

QTY PART NO DESCRIP.

1 §22532 Taifun

RS00675 @100/120

2 D12158 @100-120mm, Assembled




N3210U

N3210

450

8| L

|, 600

| N

1695

1570

2053
3748

1960 }

3530




N3210U

N3210

L1103

L1102
LE16599

L1101

L1101

D12158

S$22532

LE15910

LE16502

LE15901
LE13100
Parts List
QTY PART NO DESCRIP.

D12158 @100-120mm, Assembled
L1101 M16 sleeve nut
L1102 M16 Threaded rod
L1103 @37mm

LE13100 Shackle

LE15901 3x16, PH

LE15910 Name tag

LE16502 Spacer 6mm

LE16599 Sealtite 970 1,5ml

RS00675 @100/120

= hRIWOO| =N BA|ON

$22532 Taifun




N RNA
PLAYGROUNDS

designed for sustainable and creative play

N3222U

N3222

02-11-2023 / Rev.: D



N3222U

N3222

MAX kg/cm

2100 ‘ 245

Iloll

450
Q

600

— ~‘\\\~mg

5100

3240

1
(1]

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com

14,5 m? 51x3,2x05m ~38 kg 0,076 m* B11x210 cm 18,6 kg

J
This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



N3222U

N3222

RS10034

~———— RS00675

Parts List
QTY PART NO DESCRIP.
2 RS00675 @100/120
1 RS10034 @100-120-2100mm

RS00675



450 |

2100

N3222U

N3222

245

1685

1555

600

1570

\\\\\~mg

1960

3530




N3222U

N3222
RS10034
I
#87
=
~ B
/ RS00675
&
A i
- B
L1101 A LE15910

LE15901

L1103
]| LE16599
RS00675
Parts List
QTY PART NO DESCRIP.

L1101 M16 sleeve nut
L1102 M16 Threaded rod
L1103 @37mm

LE15901 3x16, PH

LE15910 Name tag

LE16320 6x50 Dh

LE16599 Sealtite 970 1,5ml
RS00675 @100/120
RS10034 @100-120-2100mm

ANl NN




N3230U

N3230

IA
2]
o
o

EN 1176}

e

=l

\__3-14 J

N\
100

NSRNA
PLAYGROUNDS
designed for sustainable and creative play )

01-06-2023 / Rev.: C



N3230U

N3230

/MAX kg/cm , 187 )

o
o
®
2 I I I
T T IIOII T

Sl m Il m o

NENR

™| o \

N~ o

N~ | © #19

286
2002
\

5112

o
—
o O C
Q
%)
<&
~
SR i
=
51x3x1,3m ~129 kg ~0,304 m? @11 x210 cm 18,3 kg
NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com Y,

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



Parts List

DDDDDDDD




787

llOll

#19

286

2002

069

0ogl ~

€L

1GS€

¢00¢
oLl
ocvl
12422
8G8
clS
98¢

GGGl

VAR
>

VAR
>

VAR
>

VAR
N

VAR
>

VAR
N

VAR
>

D
N

1555

1555






